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99 END

(6) iBITHB

SEG$ PASSED THE TEST

(7) SEGS W ¥ W Mk ##l LEFTS # RIGHT $ BR¥,.SEGS (AS, 1,4)*33—‘_51:}:
LEFT(A$,4),ii SEG$ (A$,LEN(A$) — 3,3) % F RIGHT S (A$,3)

(8) Hip5*
THH YIS SEG

(9) R FIEHALEE L M
M%§#W8A$C¢%&ﬁsmmﬁm&ﬁSHLWuEWﬁ&$¢mhMD$ﬁ~
&om%mxiﬁwmﬁEﬁﬁ%%ﬁﬁﬂﬂ%%ﬁ¥¢$ﬁ$¢MMm%wH

v



mwmhm¢mdmﬂﬂﬁ#%@ﬁﬁmﬁﬁﬁm%4ﬂ%7¢¥ﬁ¢%?$w~ﬁﬁﬁm
SEGS o SEG,. MHIEFMAS 4, DiE.

(10) AEABZE
K.

(1) 1
MIDS . LEFTS, RIGHTS. DIM



ABS {A.}[ANSI] (&¥0

ABS i F4HH ABSolute value —ial, ¥ I F s — SO B (E RS IO 4T

— AR FEAR LI 1S A1 X g da v i
BIINRAT PRINT  ABS(-10), B ITEIER B 1 0,
B KE/NRE RELEHHE L BASIC @REEF AT AR A 15 E Z A, ABS H0] #£4T

HERTEALH.

AR EF1
10 REM ‘ABS’ TEST PROGRAM
20 X= 35

30 PRINT “ABS PASSED THE TEST IF”;

40 PRINT ABS(-435.28);

50 PRINT ABS(-.03245);

.60 PRINT ABS(—X)

70 PRINT “ARE ALL PRINTED AS POSITIVE VALUES 7
99 END

T35
ABS PASSED THE TEST IF 435. 28 . 03245 35
'ARE ALL PRINTED AS POSITIVE VALUES.
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10 REM ‘ABS’ MATH OPERATION TEST PROGRAM
20 A= 18
30 B= 58 '
40 PRINT “THE ABSOLUTE VALUE OF ”; (A=B) /2 “1S"; ABS((A-B) / 2)
99 END
BT
: THE ABSOLUTE VALUE OF -20 IS 20
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10 REM ‘ABS’ SUB‘ROUTINE TEST PROGRAM
20 PRINT “ENTER A NEGATIVE NUMBER”;
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30 INPUT X

40 GOSUB 30010

50 PRINT “THE ABSOLUTE VALUE OF”; X, “I18”;Y

66 GOTO 20

30010 REM * ABS(X) SUBROUTINE =* INPUT X, OUTPUT Y
30012 Y= X

30014 IF X>= 0 THEN 30018

30016 Y = —X )

30018 RETURN

30999 END

TIBITES X ~35.5 %4)
. ENTER A NEGATIVE NUMBER ? -35.5

THE ABSOLUTE VALUE OF -35.5 IS 35.5
ENTER A NEGATIVE NUMBER 9 '
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10 REM ‘ACS’ TEST PROGRAM
20 PRINT “ENTER A COSINE VALUE (-1 TO )7,
30 INPUT C
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50 PRINT “THE ANGLE WITH THE X/H RATIO OF 3G Is Tswg
“RADIANS” ‘
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10 REM LOGICAL ‘AND’ TEST PROGRAM
20 A=28
30 B=§
40 IF A=8 AND B= 6 THEN 70
50 PRINT “AND FAILED THE TEST AS LOGICAL OPERATOR”
60 GOTO 99 .
70 PRINT “AND PASSED THE LOGICAL OPERATOR TEST”
99 END

IZ{THEG)
AND PASSED THE LOGICAL OPERATOR TEST
AND $AERFFE A S SEAL LT LRI S X 2288 i W85k 47 888 57 B e, fmiBAg IF
A$=“A" AND BS=“B" THEN 80 MERRE: ZEFRHETEAS EFEHANH
(AND) F/F# 258 BS % F 54 B, W IF-THEN £/ 837, BF #3158 0 154 2 8k 4 4,
7. BRENRAERAEBYH+ 1+ BIEH.
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10 REM STRING LOGICAL ‘AND’ TEST PROGRAM
20 AS=“A"
30 B% = “F”

40 IF A$=“A" AND B$)>“B” THEN 70

50 PRINT “ ‘AND’ FAILED THE TEST AS A LOGICAL OPERATOR”
60 GOTO 99

70 PRINT “ ‘AND’ PASSED THE STRING LOGICAL OPERATOR TEST”
99 END
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‘AND’ PASSED THE STRING LOGICAL OPERATOR TEST

R EULR BEIRERF AND %#IJEUWAB%#(F%#EEﬁmi MR MR
R, M ANDZERE% ~ 1, RZ, EHPE—~ &#K&ijm‘/\%##ﬁxﬁij .
AND [d]3£0.

HA0iEH PRINT A= 4 AND B=8 RyREEE: MR A%F43H(AND)B %F8, B!IJ
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10 REM ‘AND’ LOGICAL TEST PROGRAM

20 PRINT “ENTER A NUMBER FROM 1 TO 10;
30 INPUT A

4 B=A >4 AND A {11



50 IF B=—1THEN 80 . )
60 PRINT A; “ISNOT GREATER THAN 4 AND LESS THAN 11

70 GOTO 20
80 PRINT A:;“IS GREATER THAN 4 AND LESS THAN 11~
99 END

IBITHEB CRetsl)

ENTER A NUMBER FROM 1 TO 10?7 2

21S NOT GREATER THAN 4 AND LESS THAN 11
ENTER A NUMBER FROM 1 TO 10?7 8

8 1S GREATER THAN 4 AND LESS THAN 11

AFREHUE T LRI R 1 AND BERE BN T48:8 5 (AND) 4. X7
IRRBBRANERANES BN A, FEXFRBCP, AND @ % T HBRFA-—HH0L BREREHE
TR —7. S3“5” (AND) B R —i SRS R —. B

1 AND O = 0
0O AND 1 = 0
T AND 1 = 1

R, — MRS — MBS (AND), £ R B 5 5 — S SR AR 3t
RS, SR B= AN, fim:

W -

3 | 0011
(GZ#5)AND

5 0101

= 1 0001

A, B B R A By A AR —, BUSIBUR SR N HERA (R0 00 1),
R4

10 REM ‘AND’BINARY LOGIC TEST PROGRAM

20 PRINT “ENTER A VALUE FOR X”;

30 INPUT X

40 PRINT “ENTER A VALUE FOR Y";

B0 INPUT Y

60 A= X AND Y ‘

70 PRINT “THE LOGICAL ‘AND’ VALUE OF”;X; “AND”;Y; “IS”; A
80 GOTO 20

99 END

IEITHEB (16 #=1 0 441))
ENTER A VALUE FOR X? B
ENTER A VALUE FOR Y? 10 - -
THE LOGICAL ‘AND® VALUE OF 6 AND 101S 2
ENTER A VALUE FOR X9
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B AR SNEREBRE -1 TH. '
#:PS =-1X#EH SA, QS =1+ANHHMIC,AND(PS,QS)HPS = 33%18:

AL ‘ R

P$ =5A 01011010
AND

Q% =3C 00111100

W P$ =18 00011000

WMRPS AFHBMQATAHMER. BAFHBPHEAFABZLE LR
ASCIHH, Z R 5+ AR BHITER S, SNEREBREFHBRAEAPS 4,
Bltn<F e “EFG” 5+ H14 3 #5185 2 44 “ABC”.

| E F G
ASCII 7§ 69 70 71
] 45 46 47
| 0100 0101 - 0100 0110 0100 0111
A AND AND AND
i 43 0100 0011 0100 0011 0100 0011
= 0100 0001 " 0100 0010 0100 0011
ASCII 73 65 66 | 67

P$ = ‘ A B C

A E2RFES

10 REM ‘AND’ TEST PROGRAM

20 DIM AS3 (F:HEBEHWERREXAS h=A2HK.)
30 AS = <«ccc”

40 AND(AS,F1)



50 PRINT “AND PASSED THE TEST IF ";A8;“= AAA~
89 END ~

=TI
AND PASSED THE TEST IF AAA= AAA
Jo it HAUEA A LT E LB
ZHRBERF AND (WERSLEM M IF-THEN B4 aiEXil. HBRR=aERE] 9940,
50 AR
40 1F A ( >8 THEN 50
45 tF B = 6 THEN 70 ‘
WANG 2200 BBUHIHLY AND A a] AFER A ML L AR SE i, (BB 4
B ADTH BB B IR R AND EE—E . W b R BB A A0 T A B AT AT B
AND E4]DhEE:
40 REM ‘AND’ REPLACEMENT
41 N= LEN(AS)
42 FOR I=1TO N
43 C$=CS$+CHRS$ (ASC(MIDS (AS.1.1)) AND 241)

44 NEXT |
4B A8=CS$

20
OR,XOR,NOT, *,+,=,{2%{( ). < =)=

APPEND (#54)

 APPEND b 2. IS 6428 (VR BEH) 1WA — BFF. A A R0
ARIFAIEI . BUHIARS:APPEND PROG 2, SRAH5H 5554 % PROG 2 (/R3]
AT SHESUERAEPV I SRR 2 5. SN AR S 0BT T I A R
115,
A2
(ABUBSESMEREBNRER). 5 T MR SLEB TS APPEND 4, 0 T E 4

X PROG 2 B F IRIFEEREH L (3 W, CSAVE),

1000 PRINT “THESE LINES ARE”
1010 PRINT “FROM PROG?2”
1020 END

FHAFR{IA NEW 3 SCRATCH #r S ¥ M A7 %%, B8 ARRE PROG 1:

10 REM ‘APPEND’' TEST PROGRAM PROG1
20 PRINT “THESE LINES ARE”

30 PRINT “FROM PROG1”

40 PRINT « BUT...”



XBfEFT A APPEND PROG2 . | *
% PROG2 A APIFIFS PROG | &5, RUN p S B r X MEERF. (K -
i SAVE PROG 2 # APPEND PROG 2 BHi#iE R, RFEHBAEMTRER 6 4 i 5] 8
KA, ER AR FRMEEFE RAEEARRMEE.) '
BT |
THESE LINES ARE
FROM PROG1
BUT...

THESE LINES ARE
FROM PROG2

 APPEND S K AT A K OB ST P, SR8 P77 00 A B A S 2
FF LR F Al B TR 2 B3 0000 L9/ 8 L& FRIFRATSH R ER
HIBE). ,

R HIBAKRLFE LM
# R % 3 5T YL X APPEND A fi2 45 i % % Wi 5 , ] f§ TAPPEND, MERGE %
WEAVE ¥@r @58 —K. FrHXsiduirss, HIRGT HATRF LA 14 BT
- ETRAAIE. B RERR RN, AERHBE LB RAE . EH A AT A
TACHTFANTFNR. TERMEH TRS-80 PlitfF% B 5 K- ‘
SEQIREH T 7P P A4RTR P (0RO 72 TRS—80 T BUHS5 ML, bt 757 p e
1633316334, 77 PEEK #r4 4R BIAAE7E 3 M 50 304
MEB—A2 (FFFE1 6 3 33 H5T) g2, M5 R0 00, AN £2 5 6. 3 FLA S — 4%
WL .
ELEER—FHR T, 9 POKE#HH M5 RER16548 116549 HonkH,
oy B FIEA CLOAD MREH L3 A5 @A BBF T. 258 M PQKE M
L 16548-16549 sk Fry i, B2 3 3 Fu6 6 AFIFBI6548 16549 Hunt 55,
 BRBCAEFRESNEARELT.
e | ’
TAPPEND, PEEK, POKE, CSAVE, CLOAD, DATA

ASC {Ascr ) (@ﬁ)

ASC BB B R W R~ F R TR E B RSH R A ASCII T BERIBE. Bk
T PRINT . ASG( ‘A7) IR EITHR BIR L8 A 59 ASCILARHE6 5 T PRINT ASC(AS)
JSATHNRB R BB LR AS FiiE M F45 B — /8 ASCIE BE.

M EF1

10 REM ‘ASC(CHARACTER)' TEST PROGRAM
20 PRINT “THE ASCHl CODE FOR LETTER A 15";



77314

30 PRINT ASC(“A™)

40 IF ASC(“A”) =65 THEN 70

50 PRINT “ASC FAILED THE TEST”
60 GOTO 99

70 PRINT “ASC PASSED THE TEST”
99 END

IE1TZ B
THE ASCIl CODE FOR LETTER A IS 65
ASC PASSED THE TEST

PR B ASC R R,
X TR P2

10 REM ‘ASC(STRING VARIABLE) '’ TEST PROGRAM
20 PRINT “TYPE ANY LETTER, NUMBER, OR CHARACTER";
30 INPUT AS$
40 PRINT “THE ASCII CODE FOR ";A8; ¢ IS"; ASC(AS)
99 END
IEITHG Ok H #4)
TYPE ANY LETTER, NUMBER, OR CHARACTER? H
THE ASCII CODE FOR H IS 72

FETTI ASC BB LAHE th 5 P R4 UK R L (B i% 88 P i Sk — A2 75
A RERE AL ASCILRFS. HZEXF T EHL LR ASC BB B ETE T B 424, (7 HIT
WEHEF2 HRKBA - MK FFRETIRR L HEEE N L.

Hit 5%
F et HL (1 DEC—10) 4 #%8 % 5 i ASCIL

AER*
H & BASIC R ¥ (1t MAX BASIC )i ] ASC(AS . X) B 4TEN A S & o 2
Eﬂ;ﬂﬁ&)ﬁ%—ﬁ\:ﬁ K X i ASCII 1253,

e U
CHR'S, CODE, W&+ 8 ASCII .

ASN {ASNG,ASND,ARCSIN} (R %)

ASN(n) % TEKTRONIX 4050 Z%i} &4, BASIC FRE R — R B e R
HHEn i RIERM arcsin(B&: it E2E R IR ETRLRE, —MEKAHTSTE).
arcsin BE S E A Z AN — N (A) XA B A/ 3 K (Y) Sk (H) Z
HEWHE: ‘




